Hj STAR INTERNATIONAL INDUSTRY SIDEBOARD

ASSEMBLY INSTRUCTIONS

LIST OF HARDWARE
No. Hardware
@ | Bolts M6x20 L0
@ | Washers M6 ©
@ | Bolts M6x30 ()
@ | Allen key K4 ﬁﬁ
(® | Bracket &
® |Tie C—
@ | Screw M4 x 20 W
Screw M4 x 35 M



ASUS
Textbox
A X 1

ASUS
Arrow


INDUSTRY SIDEBOARD
ASSEMBLY INSTRUCTIONS

e
A
=
=
5]

STEP 4

20f3

dpeh hole inside

STEP 5




INDUSTRY SIDEBOARD
ASSEMBLY INSTRUCTIONS

FINISH






